_
INV RE

Yes, you can’

Spare Parts Catalogue

Version: 2010/08/11a EN

o - -
4 ¥ ~ B - rits
4 ) o pat - w e
[ o “. '.‘ o y
= v
L A 'y
i o
i = k
4 -
o \
- Iy oy !
u! i
0y

!
j

Invacare® DRAGON



Yes, you can’

General Information
For any order of spare parts the following information is required.

- Product type

- Product name & model
- Serial Number

- Part-Number

- Part-Description

Exploded view drawings and code numbers are not contractual and subject to
modification, in relation to Invacare® continous product improvement policy to meet
end users needs.

The reproduction or use of this work, or of any substantial part of this work, in any
form or by any electronic, mechanical or other means, including photocopying,
scanning and recording, and in any information storage and retrieval system,
including electronic transmission, is forbidden without the prior written permission of
Invacare® Intemational Sarl.



Yes, you can’

TABLE OF CONTENTS

Information
User Manuals Dragon . . .. ...t e e 5
User Manuals REM24SD . . .. ... .. e e e e e e e 6
User Manuals Shark .. ... ...t e e e 7
User Manuals Miscellaneous . . ... ... i 8
Chassis
N I o oY= 9
CRaSSIS .« . oot 10
SIOUAS ... 11
Seat
Seat Unit . ..o 12
Seatplate Dragon Start . ... ... ... 13
Childrenseat . . ... .. o 14
Seat Hight AdjUSting . .. ... o 15
Seat Angle AdJUSEING . . . ..o e 16
Seat Cushion AdUIES . ... ... e 17
Seat Cushion For Junior Seat ... ... ... e 18
Backrest
Backrest Adjustment Pneumatic ==>11/2004 . ... ... ... i 19
Backrest Adjustment 01/2005 ==> . . . .. ... i 20
Backrest Adjustment Setable . ... ... ... . 21
Settable Backrestrecliner Junior Seat . .. ... 22
UpPNOIS eIy .o 23
Legrests
Legrest Support Manuall . . .. ... .. 24
Legrest Support Electr. / Vari A 07.2005 ==> . ... .. 25
Hanger manually height adjustable . . ... .. e 26
Hanger Standard 80° . ... ... ... . 27
Vari A Hanger RH/LH 07.2005 ==> . . ... o e e e e e e 28
ADM Hanger RH/LH Electr. 07.2005 ==> . . ... .. e 29
Calf Plate Holder LH/RH 07.2005 ==> . . ... . e e e 30
Legrests Dragon JUNIOT . . . . ..ottt e e e e e e e e e e e e e 31
Footrests
Footplate flip up 01.08.10 ==> . . .. .. 32
Footplate flip up, angle-adjustable 01.08.10 ==> . . .. .. ... .. .. .. . 33
Legrests, manual . . ... ... 34
Footrest Details . .. ... ... 35
Siderests
Side Panel for Standard-Seat ==> 07/31/08 . . . .. .. .. e 36
Side Panel for Standard-Seat 08/01/08 ==> . . . ... ... . i 37

ArmMrest JUNIOr Seat . . ... o 38



Yes, you can’

TABLE OF CONTENTS

Front Wheels
Front Wheels . ... . 39
Rear Wheels
Rear Wheel . ... 40
Propulsion
Motor & Declutching 6/8 Km/h .. ... . 41
Motor & Declutching 6 km/h 16.07.08 ==> . . . ... . . 42
Motor & Declutching 8 km/h 16.07.08 ==> . . . ... .. 43

Controls Drive

EleCtrONIC .. o 44

Control Adjustment

REM24SD ReMOtE . . ..o e e e 45
Remote holder for accompanying person . ... ... ... i 46
Remote REMS50 & HOIAEr . . . ... e 47
Keypads Shark2 .. ... .. 48
DUual Control . . .o 49
Remote Brackets .. ... ... 50
Control Unit/ JoystickbOoX . .. ... 51
Remoteholder . ... .. 52
Cables & Charger
Batterys & Charger . ... ... 53
Cables . . 54
Safety Options
Front Lights ..o 55
Rear Light . ..o 56
Bl o 57

Seating Options

Headrest . . ..o 58
Headrest with Cheeksupport . .. ... .. . e e e e e e e 59

Other Options & Accessories



Invacare® Dragon | Information

User Manuals Dragon

'cs GESKY

‘ |FR FRANGAIS | [PL PoLski
lDA DANSK [HR HRVATSKI J [PT PORTUGUES
iDE DEUTSCH |HU MAGYAR l ISK SLOVENCINA
[EN ENGLISH | IT ITALIANO | [SL SLOVENSCINA |
|ES ESPANOL {LT LIETUVIU KALBA | [SV SVENSKA ‘
[ET EESTI KEEL | | NL NEDERLANDS ] [RO ROMANA
|FI SUOMENKIELI | [NO NORsK ] bA BAE
Pos. Part number Description Valid from — until Qty
NL 1442476 User Manual Dragon Dutch 1
EN 1442477 User Manual Dragon English 1
FI 1442478 User Manual Dragon Finnish 1
FR 1442479 User Manual Dragon French 1
DE 1442480 User Manual Dragon German 1
IT 1442481 User Manual Dragon Italian 1
NO 1442482 User Manual Dragon Norwegian 1
PT 1442483 User Manual Dragon Portuguese 1
ES 1442484 User Manual Dragon Spanish 1
SV 1442485 User Manual Dragon Swedish 1
SL 1443130 User Manual Dragon Slovenian 1
SK 1443131 User Manual Dragon Slovak 1
PL 1443132 User Manual Dragon Polish 1
HU 1443133 User Manual Dragon Hungarian 1
CZ 1443134 User Manual Dragon Czech 1
LT 1493185 User Manual Dragon Lithuanian 1
D 5/64 Version: 2010/08/11a EN



Invacare® Dragon | Information

User Manuals REM24SD

'cs GESKY

‘ | [FR FRANGAIS | [PL PoLski
[DA DANSK [HR HRVATSKI ] [PT PORTUGUES
lDE DEUTSCH |HU MAGYAR l ISK SLOVENCINA
[EN ENGLISH | IT ITALIANO | [sL sLovenseina |
[ES ESPANOL {LT LIETUVIU KALBA | [SV SVENSKA "
[ET EESTI KEEL J |_’NL NEDERLANDS ] [RO ROMANA 1
[FI SUOMEN KIELI [NO NORSK ] bA BAE
Pos. Part number Description Valid from — until Qty
DE 1436142 User Manual REM24SD German 1
FR 1436143 User Manual REM24SD French 1
EN 1436144 User Manual REM24SD English 1
SV 1436145 User Manual REM24SD Swedish 1
DA 1436146 User Manual REM24SD Danish 1
NO 1436147 User Manual REM24SD Norwegian 1
NL 1436148 User Manual REM24SD Dutch 1
ES 1436149 User Manual REM24SD Spanish 1
PT 1436150 User Manual REM24SD Portuguese 1
IT 1436385 User Manual REM24SD ltalian 1
FI 1436386 User Manual REM24SD Finnish 1
Version: 2010/08/11a EN 6/64 D



Invacare® Dragon | Information

User Manuals Shark

(cs CeskY [FR FRANCAIS | [PL PoLski
[DA DANSK [HR HRVATSKI J [PT PORTUGUES
iDE DEUTSCH |HU MAGYAR l ISK SLOVENCINA
[EN ENGLISH | IT ITALIANO | [SL SLOVENSCINA |
|ES ESPANOL {LT LIETUVIU KALBA | [SV SVENSKA ‘
[ET EESTI KEEL |NL NEDERLANDS ] [RO ROMANA
|FI SUOMENKIELI | [NO NORsK ] bA BAE
Pos. Part number Description Valid from — until Qty
NL 1436157 User Manual Shark Dutch 1
SV 1436154 User Manual Shark Swedish 1
ES 1436158 User Manual Shark Spanish 1
DE 1436151 User Manual Shark German 1
IT 1436383 User Manual Shark Italian 1
PT 1436159 User Manual Shark Portuguese 1
DA 1436155 User Manual Shark Danish 1
FI 1436384 User Manual Shark Finnish 1
EN 1436153 User Manual Shark English 1
NO 1436156 User Manual Shark Norwegian 1
FR 1436152 User Manual Shark French 1
1 1436151 User Manual Shark German 1
2 1436153 User Manual Shark English 1
4 1436157 User Manual Shark Dutch 1
5 1436158 User Manual Shark Spanish 1
6 1436159 User Manual Shark Portuguese 1
9 1436156 User Manual Shark Norwegian 1
10 1436155 User Manual Shark Danish 1
11 1436383 User Manual Shark Italian 1
8 1436154 User Manual Shark Swedish 1
D 7164 Version: 2010/08/11a EN



Invacare® Dragon | Information
User Manuals Miscellaneous

(cs CeskY |FR FRANGAIS | [PL PoLski

[DA DANSK J [HR HRVATSKI ] [PT PORTUGUES

IDE DEUTSCH | [HU MAGYAR | [sk sLOVENCINA

[EN ENGLISH | [T iTaLIANO | [SL sLOVENSCINA

[ES ESPANOL {LT LIETUVIU KALBA J [SV SVENSKA

[ET EESTI KEEL J |’NL NEDERLANDS ] [RO ROMANA

|FI SUOMENKIELI | [NO NORsK ] bA BAE
Pos. Part number Description Valid from — until Qty
DE 1419316 User Manual Handheld Programmer German 1
EN 1419317 User Manual Handheld Programmer English 1
DE Q99081 User Manual Table- & Middle Control REM41-S German 1
FR Q99082 User Manual Chin Control, French 1
DE Q99083 User Manual Chin Control, German 1
ED Q99086 User Manual Chin Control, English 1

Version: 2010/08/11a EN

8/64



Invacare® Dragon | Chassis

Anti-Tipper
Pos. Part number Description Valid from — until Qty
1 1440743-9005 Anti-Tipper Support Tube Black 1
2  M14906 Anti-Tipper Wheel VG80/24-GI10-SS 1
3 SP1440686 Anti-Tipper Complete 1
4 1442593 Mounting Kit Anti-Tip 1

D 9/64 Version: 2010/08/11a EN



Invacare® Dragon | Chassis

Chassis

Pos. Part number Description Valid from — until Qty
1 SP1442035 Chassis, blue, cpl. 1
1 SP1448642 Chassis, black, cpl. 1
1 SP1536283 Chassis, silver, cpl. 1
1 SP1536284 Chassis, transparent blue, cpl. 1
1 SP1536285 Chassis, transparent red, cpl. 1
1 SP1536286 Chassis, transparent purpur, cpl. 1
2 1419254 Angular Ball Bearing 7202B 2Rs 1
3 1418547-9005 Bearing Plate LH (black) 1
3 1418544-9005 Bearing Plate RH (black) 1
4 1492498 Battery Frame ACS 1
5 SP1440745 Luggage Carrier cpl. 1
7 SP1492647 Taxi Fixation cmpl. 1
- 1442551 Fixing Kit Luggage Carrier cpl. 1
- 1442601 Battery Clamp Fixing Kit 1

Version: 2010/08/11a EN

10/64



Invacare® Dragon | Chassis

Shrouds
1442067 .dwg
Pos. Part number Description Valid from — until Qty
1 SP1442599 Battery Cover Rear Complete 1
2 1440684-9006 Battery Cover Front 1
3 1440769 Hand Wheel 1
4  SP1442592 Facing for Chassis LH cpl. 1
5 SP1442596 Facing for Chassis RH cpl. 1

11/64

Version: 2010/08/11a EN



Invacare® Dragon | Seat

Seat Unit
Par‘t‘ Pos.
a-h| 6
e

AL 1
I I
I I
| |
| |
I I
I I
I I
I I
em——e—— 3

Pos. Part number

Description

Valid from — until Qty

1442655-9005
1419999-9005
P31298
u21087
SP1423205

o b WOWDN

Seat Frame For Electrical Tilt

Seat Plate

Reflector, Yellow

Velcro Fastener Strip 38 X 400mm Adhesive
Seat Mounting Kit (One-Piece Version)

= A A A a

Version: 2010/08/11a EN

12/64



Invacare® Dragon | Seat

Seatplate Dragon Start

1450311.dwg
Pos. Part number Description Valid from — until Qty
1 SPP31298 Reflector, yellow 1
2 U21087 Velcro Fastener Strip 38 X 400mm Adhesive 1
3 - HEX NUT M8 1
4 - Hex Head Screw M8 X 20 1
5 1442753-9005 Bracket f.siederest Ih Dragon Junior 1
6 1442754-9005 Bracket f.siederest rh Dragon Junior 1
7 1442761-9005 Seat plate cpl. std Dragon Junior 1

13/64

Version: 2010/08/11a EN



Invacare® Dragon | Seat

Description

Valid from — until Qty

Childrenseat
Pos. Part number

1 SP1446520

2 1434609

3 5009551

4 F368016.99

5 SPP31298

6 1443083

7 -

8 -

9 -
10 -
1M -
12 5824282
13 SP1443076
14 1443069-0002
15 -
16 -
17 P22414
18  P22417
19 D16108
20 GO00107
21 J50999-0002
22 -
23 SP1448718
24  1442761-9005
25 SP1448703
26 SP1448702
27 SP1448712
28 SP1445023

Actuator ACS2 / Shark

KIT INDEXEUR DE R-J+FIX.A2000 JUNIOR
Plastic Upholstery Washer

Locking Bolt - Quick Release

Reflector, yellow

Part not for sale

HEX NUT M8

Nut, M8 DIN 985

Srew M8X35 DIN 933

Srew M8X35 DIN 933

Countersunk Screw W. Alllen Key M8*16 10.9
M6X16 ISO7380 SCREW

Seat Cushion 360mm For Junior Seat

Thread Sheet Dragon Junior

Lock Washer 10mm

Tube End Plug S| 22

CABLE STRAP L=142 MM; BLACK

CABLE FASTENER 7.9 MM ( CORD CLIP ); BLACK
Countersunk Self-Tapping Cross Head Screw 4,8 X 22
Scheibe 8, 4X17X1, 6 DIN 125

Bolt

Bush Rd. 12 X 1.8 X 23

Upholstery cpl For Junior Seat

Seat plate cpl. std Dragon Junior

Side part LH cpl. Dragon Junior

Side part RH cpl. Dragon Junior

Backresttube

Support bracket

- a4 a2 a2 a2 A a Aa A A A A A A A A A A A A A A A A A A A

Version: 2010/08/11a EN

14 /64



Invacare® Dragon | Seat

Seat Hight Adjusting

Pos. Part number Description Valid from — until Qty

1 1440733-9005 Plate Black Right 1

1 1440763-9005 Plate Black Left 1

2 1440721-9005 Fixing Plate 1

3 1442594 Mounting Kit Lifter And Rear Seat Fixation 1
D 15/ 64 Version: 2010/08/11a EN



Invacare® Dragon | Seat

Seat Angle Adjusting

Pos. Part number Description Valid from — until Qty
SP1440716 Manual Seat Angle Adjusting Complete 1

- SP1442796 Electric Seat Angle Adjuster ; cpl. 1

1 1440744-9005 Cross Tube — 20050530 1

1 1449085-9005 Tube 20050601 — 1

2 1440718-9005 Top Fixing Plate 1

3 SP1446521 Actuator La 2825S-75-24-002 1

4 1442800-9005 Tilt Suspension 1

5 1442595 Mounting Kit Tilt And Front Seat Fixation 1

6 1446515 Mounting Kit Actuator Seat Angle 1

Version: 2010/08/11a EN 16/ 64 D



Invacare® Dragon | Seat

Seat Cushion Adults
STANDARD KONTUR LAGUNA FLO-TECH LITE VISCO
] £
1] &41em
2 | 4bem black L L3em black 5 41,5cm 6 | 405 x43cm
3 S1cm | .

Pos. Part number Description Valid from — until Qty
1 1420460 Cushion Standard SD 41cm 1
2 1420461 Cushion Standard SD 46cm 1
3 1420462 Cushion Standard SD 51cm 1
4 B260005 Seat Cushion Contour 1
5 1435857 CUSHION, SEAT, "MISTRAL2" 415/490, DARTEX GREY 1
6 SP1501110 Flotech Lite Visco Seat Cushion (40.5 X 43cm) 1

D 17/ 64 Version: 2010/08/11a EN



Invacare® Dragon | Seat

Seat Cushion For Junior Seat

STANDARD

-

—A—‘—..-?\.
35em

Pos. Part number Description Valid from — until Qty

1 SP1443076 Seat Cushion 360mm For Junior Seat 1

Version: 2010/08/11a EN 18/ 64 D



———————

Invacare® Dragon | Backrest

Backrest Adjustment Pneumatic ==>11/2004

Pos. Part number Description Valid from — until Qty
a - Axle Bolt M8 X 45 1
¢ GO00107 Scheibe 8, 4X17X1, 6 DIN 125 1
b - Nut, M8 DIN 985 1

SP1436509 Backrest Adjustment Pneumatic For Standard Seat Complete 1
d Z131009A Bush Rd. 18 X 3 X 22 1
f - Washer 8,4 X 25 X 2 1
e - Bush Rd. 12 X 1.8 X 23 1
g LO01041 Cover Cap For Wheel Invacare P452E 1
1 1442845-9005 Lower Receiving Bracket 1
2 1440395-9005 Backtube 1
3 N368003 Release Lever Stabilus 1
4 N368007 Back Adjuster Pneumatic cpl. 1
5 F367005 Fixing Kit For Seat Mounting 1

19/64

Version: 2010/08/11a EN



Invacare® Dragon | Backrest

Backrest Adjustment 01/2005 ==

6
3
| |
4 N '

1443269.dwg

Pos. Part number Description Valid from — until Qty
- SP1444993 Back Adjuster Laguna Pneumatic, Without Back Cushion, cpl. 1
- SP1443268 Electrical Back Adjuster Laguna, Without Back Cushion, cpl. 1
- SP1443267 Electrical Back Adjuster Contur, Without Back Cushion, cpl. 1
- SP1444991 Back Adjustment Standard, Back Height 54CM, Pneumatically, cpl with 1

backbelt
- SP1443269 Backrest Adjustment Pneumatic For Standard Seat Complete 1
- SP1443270 Back Adjustment Standard, Back Height 54cm, Electzrically, Cpl with 1
backbelt
- SP1444990 Backrest Adjustment Pneumatic For Standard Seat Complete
- SP1444992 Back Adjuster Kontur Pneumatic, Without Back Cushion, cpl.

1442866-9005
1442833-9005
1442864-9005
1442874-9005
1442845-9005
N368007
N368003
SP1446520
1446702
1446699
1446700

O N NO OO WN-_a A

Back Tube Standard, Back Height 54 cm, Infinitely Adjustable
Back Tube Contour, Infinitely Adjustable

Back Tube Standard, Back Height 48 cm, Infinitely Adjustable
Back Tube Laguna, Infinitely Adjustable

Lower Receiving Bracket

Back Adjuster Pneumatic cpl.

Release Lever Stabilus

Actuator ACS2 / Shark

Backtube Fixation Kit Laguna

Backtube Fixation Kit

Mounting Kit Actuator

Version: 2010/08/11a EN

20/ 64

R (U UL QUL GO (I U QU UK I G



Invacare® Dragon | Backrest

Backrest Adjustment Setable

Pos. Part number Description Valid from — until Qty
1 1434878-9005 Backtube Contour For Storm® Euro 1
1 1419996-9005 Back Tube 480 mm 1
1 1420465-9005 Back Tube 540 mm 1
2 SP1423208 Std. Backrest Assembly Kit cpl. 1
3 SP1420444 Star Grip M8 cpl. 1
4  SP1444989 Back Adjuster Kontur, Without Back Cushion, Progressively Adjustable 1
cpl.
4 SP1444988 Back Adjuster Standard, Back Height 54 cm, With Backrest Upholstery, 1
4 SP1444987 Back Adjuster Standard, Back Height 48 cm, With Backrest Upholstery, 1

D 21/64 Version: 2010/08/11a EN



Invacare® Dragon | Backrest

Settable Backrestrecliner Junior Seat

1450317.dwg

Pos. Part number Description Valid from — until Qty
- - Backrest Dragon Junior cpl. 1

1 5009551 Plastic Upholstery Washer 1
2 - Nut, M8 DIN 985 1
3 - Srew M8X35 DIN 933 1
4 - Countersunk Screw W. Alllen Key M8*16 10.9 1
5 1443069-0002 Thread Sheet Dragon Junior 1
6 1442925-9005 Back Adjustment Dragon Junior 1
7 D16108 Countersunk Self-Tapping Cross Head Screw 4,8 X 22 1
8 G00107 Scheibe 8, 4X17X1, 6 DIN 125 1
9 - Bush Rd. 12 X 1.8 X 23 1
10 SP1448718 Upholstery cpl For Junior Seat 1
11 1442980-9005 Back Tube cpl.Std Kid. Dragon Junior 1
12 SP1420444 Star Grip M8 cpl. 1

Version: 2010/08/11a EN

22 /64



Invacare® Dragon | Backrest

Upholstery
]
i 5
| /
- L
[ | B
[ | |
| | l
[ | l
[ | l
[ | '
[ | l
[ | l
[ | l
| | |
| | |
[ | |
| | |
[ | '
[ | '
[ | '
[ | l
[ | l
[ | l
[ | l
J L _

Pos. Part number Description Valid from — until Qty
1 1422062 Sling Back with removable cushion 480 mm 1
1 1422063 Sling Back with removable cushion 540 mm 1
2 SPF365037 Back Cushion For Storm? Euro cpl. 1

3,4 F367006 Fixing Kit For Backrest Comfort And Contur 1
5 1427119 CUSHION,BACKREST LAGUNA 402X550,DARTEX GREY 1
6 1420072 BACKREST SHELL "LAGUNA" 410,CPL 1
3  Z16001A Clamp 1
4 D16108 Countersunk Self-Tapping Cross Head Screw 4,8 X 22 1

23 /64

Version: 2010/08/11a EN




Invacare® Dragon | Legrests

Legrest Support Manuall

Pos. Part number Description Valid from — until Qty

1 SP1450310 Fixation for Legrest LH Dragon Junior Complet 1

1 SP1450309 Fixation for Legrest RH Dragon Junior Complet 1

2 SP1441526 Leg Support Carrier LH cpl. 1

2 SP1441527 Leg Support Carrier RH cpl. 1
Version: 2010/08/11a EN 24/64 D



Invacare® Dragon | Legrests

Legrest Support Electr. / Vari A 07.2005 ==

Pos. Part number Description Valid from — until Qty
1 SP1449737 Footrest/Legrest receptacle, manuell, LH, 8cm 1
1 SP1449739 Footrest/Legrest receptacle, powered, LH, 8cm 1
1 SP1449735 Footrest/Legrest receptacle, powered, LH, 5cm 1
1 SP1449733 Footrest/Legrest receptacle, manuell, LH, 5cm 1
2 SP1449738 Footrest/Legrest receptacle, powered, RH, 8cm 1
2 SP1449736 Footrest/Legrest receptacle, manuell, RH, 8cm 1
2 SP1449734 Footrest/Legrest receptacle, powered, RH, 5cm 1
2 SP1449732 Footrest/Legrest receptacle, manuell, RH, 5cm 1
3 SP1450228 Legrest Cable 1

25/64

Version: 2010/08/11a EN



Invacare® Dragon | Legrests
Hanger manually height adjustable

Pos. Part number Description Valid from — until Qty
1 1513006 HANGER ALU2008, AA, RIGHT, CPL 1
1 1513007 HANGER ALU2008, AA, LEFT, CPL 1
2 1516314 CALF PAD 15 (165x170x80), CPL 1
2 1518532 Calf Support 15 1
3 SP1442853 Lower Legrest With Angle Adjustable Footplate, With Heel Strap. Width 1
3 SP1442854 Lower Legrest With Angle Adjustable Footplate, With Heel Strap. Width 1
4 1430402 HEELSTRAP COMPLETE 1

Version: 2010/08/11a EN 26/64 D



Invacare® Dragon | Legrests

Hanger Standard 80°

Pos. Part number Description Valid from — until Qty

1 1493055-0509 HANGER ALU2003,FIXED 80 DEG,CPL 1

D 27/64 Version: 2010/08/11a EN



Invacare® Dragon | Legrests

Vari A Hanger RH/LH 07.2005 ==

Pos. Part number Description Valid from — until Qty
- SP1527820 Rework-Kit VariA-Legrest Version 1 ==> Version 2 — 20090401 1
1 SP1449348 Hanger Vari A RH cpl. 1
1 SP1449349 Hanger Vari A LH cpl. 1
2 SPL32906 Excentric Clamping Lever 1
3 SP1434955 Cover Legrest cpl. 1
6 6301333 Legrest Calf Panel 1
7 SP1450447 Calf Pad Holder Left Turnable, cpl. 1
7 SP1450446 Calf Pad Holder Right Turnable, cpl. 1

Version: 2010/08/11a EN

28 /64



Invacare® Dragon | Legrests

ADM Hanger RH/LH Electr. 07.2005 ==

Pos. Part number Description Valid from — until Qty
1 6301333 Legrest Calf Panel 1
2 SP1450446 Calf Pad Holder Right Turnable, cpl. 1
2 SP1450447 Calf Pad Holder Left Turnable, cpl. 1
3 SPz173178 Spring 1
4 SPZ174134 Floating Cylinder With Pin 1
5 SP1450410 Knee Upholstery LH 1
6 SP1450448 Knee Upholstery RH 1
7 SP1449293 Ad-Cover cpl. 1
8 SPZ151006 Actuarot With Circuit Board, Preassembled 1
9 SPN12196 Spring 1

10 SP1449408 Hanger ADP RH cpl. 1
10 SP1449407 Hanger ADP LH cpl. 1

29/64

Version: 2010/08/11a EN



Invacare® Dragon | Legrests

Calf Plate Holder LH/RH 07.2005 ==

Pos. Part number Description Valid from — until Qty
1 SP1450447 Calf Pad Holder Left Turnable, cpl. 1
1 SP1450446 Calf Pad Holder Right Turnable, cpl. 1
2 SP1487409 Calf Plate Holder for Recaroseat RH 1
2 SP1487410 Calf Plate Holder for Recaroseat LH 1
3 SP1449021 Assembly Kit, Calf Plate Holder 1
4  SP1450226 CALF PLATE HINGE, RH 1
4  SP1450225 CALF PLATE HINGE, LH 1

Version: 2010/08/11a EN 30/64 D



Invacare® Dragon | Legrests

Legrests Dragon Junior

1449018 dwg
.
[\
o
o
o
o
o
o
o
St
i
A
{
2
Pos. Part number Description Valid from — until Qty
1 1449018-0601 Legrest cpl. RH Junior 1
2 1449019-0601 Legrest cpl. LH Junior 1
D 31/64

Version: 2010/08/11a EN



Invacare® Dragon | Footrests

Footplate flip up 01.08.10 ==

1529644 X iso

Pos. Part number Description Valid from — until Qty
1 SP1541575 Footplate flip up, LH, cpl. 1
2 SP1541574 Footplate flip up, RH, cpl. 1
3 SP1529645 FOOTPLATE LH 1
4 SP1529644 FOOTPLATE RH 1
5 SP1543045 Plug-in tube 1
6 SP1423202 HEEL STRAP CPL. 1

Version: 2010/08/11a EN 32/64 D



Invacare® Dragon | Footrests

Footplate flip up, angle-adjustable 01.08.10 ==

15296845X iso

Pos. Part number Description Valid from — until Qty
1 SP1541580 Footplate flip up, angle adjustable, LH, cpl. 1
2 SP1541579 Footplate flip up, angle adjustable, RH, cpl. 1
3 SP1529645 FOOTPLATE LH 1
4 SP1529644 FOOTPLATE RH 1
5 SP1423204 FOOT PLATE TUBE, ANGLE ADJUSTMENT LH CPL. 1
6 SP1423203 FOOT PLATE TUBE, ANGLE ADJUSTMENT RH CPL. 1
7 SP1423202 HEEL STRAP CPL. 1

33/64

Version: 2010/08/11a EN



Invacare® Dragon | Footrests

Legrests, manual

1441526.dwg

Pos. Part number Description Valid from — until Qty
1 SP1442852 Lower Legrest Standard With Heel Strap, Width 43-45,5cm, Left 1
1 SP1442851 Lower Legrest Standard With Heel Strap, Width 43-45,5cm, Right 1
2 SP1442853 Lower Legrest With Angle Adjustable Footplate, With Heel Strap. Width 1
2 1428368 FOOTREST 24ALU2003,LOWER PART,FIXED,LONG,RIGHT 1
2 SP1442854 Lower Legrest With Angle Adjustable Footplate, With Heel Strap. Width 1
2 1428367 FOOTREST 24ALU2003,LOWER PART,FIXED,LONG,LEFT 1
3 1508945 HANGER, CPL LEFT 1
3 1513007 HANGER ALU2008, AA, LEFT, CPL 1
3 1513006 HANGER ALU2008, AA, RIGHT, CPL 1
3 1508948 HANGER, CPL RIGHT 1
4 1518532 Calf Support 15 1
4 1516314 CALF PAD 15 (165x170x80), CPL 1
5 1493055-0509 HANGER ALU2003,FIXED 80 DEG,CPL 1
5 1424577-0509 HANGER STANDARD, USABLE RIGHT AND LEFT 1

==>08/2006 - ==>08/2006
6 SP1441527 Leg Support Carrier RH cpl. 1
6 SP1441526 Leg Support Carrier LH cpl. 1
7 1430402 HEELSTRAP COMPLETE 1
8 1440874 Part not for sale 1
9 1430117 LEGRESTS STORM 3 EURO CPL. (PAIR) 1

Version: 2010/08/11a EN

34 /64



Invacare® Dragon | Footrests

SP1423202 dwyg

Footrest Details

Pos. Part number Description Valid from — until Qty
1  SP1423202 HEEL STRAP CPL. 1
2 72173217 AT 2000 footplate 1
2 7173218 AT 2000 footplate 1
3  SP1423204 FOOT PLATE TUBE, ANGLE ADJUSTMENT LH CPL. 1
3  SP1423203 FOOT PLATE TUBE, ANGLE ADJUSTMENT RH CPL. 1
4 5106376 FOOTPLATE 18 AA, CPL. 1
5 5321579 HEEL LOOP, PAIR 1

35/64

Version: 2010/08/11a EN



Invacare® Dragon | Siderests

Side Panel for Standard-Seat ==> 07/31/08

Pos. Part number Description Valid from — until Qty
b 1450095 Assembly Kit, Side Part Plate, Soft 1
a 1450296 Fixing Kit Side Part Plate 1
1 1442618 Armrest Pad With Assembly Kit - LH cpl. 1
1 1442619 Armrest Pad With Assembly Kit - RH cpl. 1
2 1442021-9005 Arm Pad Bracket RH 1
2 1442020-9005 Arm Pad Bracket LH 1
3 1442012-9005 Side Part Adjustment RH 1
3 1442015-9005 Side Part Adjustment LH 1
4 110024 Wing Thumb Screw M6 X 16 1
5 1442024-9005 Armrest Support Tube LH 1
5 1442025-9005 Armrest Support Tube RH 1
6 1433292 Skirt-Guard RH 1
6 1433291 Skirt-Guard LH 1
7 1450102 Armrest Pad, Soft, Right With Assembly Kit 1
7 1450100 Armrest Pad, Soft, Left With Assembly Kit 1
8 SP1430417 Bag For Side Panel LH cpl. 1
8 SP1430416 Bag For Side Panel RH cpl. 1
9 1448749-9005 Base Plate cpl. Dragon 1

10 - Washer DIN 5,3 9021 1
11 - Hexagon Bolt DIN 912 M5X16 1
12 L10024 Wing Thumb Screw M6 X 16 1
13 SP1448754 Side Part Soft, Right cpl. 1
13 SP1448753 Side Part Soft, Left, cpl. 1
14  SP1442017 Side Part RH cpl. 1
14 SP1442016 Side Part LH cpl. 1

Version: 2010/08/11a EN

36 /64



Invacare® Dragon | Siderests

Side Panel for Standard-Seat 08/01/08 ==

Pos. Part number Description Valid from — until Qty
1 SP1526440 Sidepart RH 1
2 SP1526441 Sidepart LH 1
3 SP1528846 Armpad, long, LH (376mm) 1
3 SP1528845 Armpad, long, RH (376mm) 1
4 SP1443004 Armpad LH (326mm) 1
4  SP1449043 Armpad RH (326mm) 1
5 SP1541505 Skirt guard, RH 1
5 SP1541506 Skirt guard, LH 1
6 SP1541507 T-Adapter 1
7 SP1541508 Insertion tube, RH 1
7 SP1541509 Insertion tube, LH 1
8 SP1541510 Siderestbracket, RH 1
8 SP1541511 Siderestbracket, LH 1

37 /64

Version: 2010/08/11a EN



Invacare® Dragon | Siderests

Armrest Junior Seat

Pos. Part number Description Valid from — until Qty
1 SP1448702 Side part RH cpl. Dragon Junior 1
2 5009885 Armrest Pad Comet 1
3 D36112 Self-Tapping Cross Head Screw 4,8 X 16 1
4  SP1448703 Side part LH cpl. Dragon Junior 1
5 1425601 Armrest Skirtguard 1 1
6 L10024 Wing Thumb Screw M6 X 16 1
7 D90184 Screw M6X12 DIN 7380 1
Version: 2010/08/11a EN 38/64 D



Invacare® Dragon | Front Wheels

Front Wheels
ey
|
|
|
|
|
|
|
|
|
|
|
|
!
|
|
|
|
|
|
|
L
Pos. Part number Description Valid from — until Qty
- M12017 Castor Inner Tube 200x50, kpl 1
- 1446709 TYRE 220 X 50, GREY 1
1 1442604 Front Fork cpl. 1
1 SP1523435 Front Fork cpl. (Frame Melone Yellow) 1
2 1441999 Wheel 220X50 Pneumatic Grey 1
2 1442607 Wheel 220X50 Puncture Proof (Solid Inlay) Grey 1

39/64

Version: 2010/08/11a EN



Invacare® Dragon | Rear Wheels

Rear Wheel

Pos. Part number

Description

Valid from — until Qty

SP1440764
SP1442858
SP1488561
SP1488562
M12004
23009262
M11005
1440294
1442602
SP1523436

W W AN~ 20101 O1O

Pneumatic Rear Wheel Complete

Puncture-Proof Rear Wheel Complete (Solid Inlay)
Rearwheel Pneumatic, cpl. Dragon Start
Rearwheel Puncture Proof, cpl. Dragon Start
Inner Tube (for Tyre - 12 1/2" x 2 1/4")

Puncture Proof Infill (Complete with tyre)

Tyre 121/2 X2 1/4

Wheel Fixing Kit Wheel 12-1/2

Wheel Rim Assembly Kit Black, cpl.

Rim Assembly-Kit

R G\ U U QAL Ul U G G

Version: 2010/08/11a EN

40/64



Invacare® Dragon | Propulsion

Motor & Declutching 6/8 km/h

1441594 dwg

Pos. Part number Description Valid from — until Qty
- SP1440712 Disengager Complete 1

1 1440651 Drive Unit 6km/h Left — 20080715 1
1 1440650 Drive Unit 6km/h Right — 20080715 1

i - For 6km/h Version Effective from 16.07.2008 new Software. 1

1 1440652 Drive Unit 8km/h Right 1
1 1440653 Drive Unit 8km/h Left 1
1a 1486071 Brake Kit SSG02 1
2 1509053-0002 Wheel Hub 1
3 1430138 Angle Joint M6 R 1
4 1440643-9005 Disengager 1
5 A131002A Slider For Disengaging Lever 1
6 1440701-0003 Holding Plate For Disengager 1
7 1485273 Lever Arm, Assembly Set 1
8 1446571 Carbon Brushes 1
9 1442690 Fixing Kit Disengager 1
10 SP1541500 Disclutching rod 1

41/64

Version: 2010/08/11a EN



Invacare® Dragon | Propulsion

Motor & Declutching 6 km/h 16.07.08 ==

Pos. Part number Description Valid from — until Qty
i For 6km/h Version Effective from 16.07.2008 new Software. 1
- SP1530172 Rework-Kit Schmid ==> Hua-Feng (without motors) 1
1 1440643-9005 Disengager 1
2 1430139 KNUCKLE JOINT 1
3 1509571 Gas spring 1
4 1442019 Starlock Cap 8 mm 1
5 1430138 Angle Joint M6 R 1
6 5006742 PULL-LATCH SMALL 1
7 SP1509652 Retro-Fitting Kit Declutching Mechanism (Lever, 2 Gassprings) 1
8 1436633 Motor 6km/h LH 1

From 16.07.08 new software
8 1436632 Motor 6km/h RH 1

9 1509053-0002

From 16.07.08 new software
Wheel Hub

Version: 2010/08/11a EN

42 /64



Invacare® Dragon | Propulsion

Motor & Declutching 8 km/h 16.07.08 ==

Pos. Part number Description Valid from — until Qty
- SP1530172 Rework-Kit Schmid ==> Hua-Feng (without motors) 1
1 1440643-9005 Disengager 1
2 1430139 KNUCKLE JOINT 1
3 1509571 Gas spring 1
4 1442019 Starlock Cap 8 mm 1
5 1430138 Angle Joint M6 R 1
6 5006742 PULL-LATCH SMALL 1
7 SP1509652 Retro-Fitting Kit Declutching Mechanism (Lever, 2 Gassprings) 1
8 1440652 Drive Unit 8km/h Right 1
8 1440653 Drive Unit 8km/h Left 1
9 1509053-0002 Wheel Hub 1

43/64

Version: 2010/08/11a EN



Invacare® Dragon | Controls Drive

Electronic

e e e e e

Pos. Part number Description Valid from — until Qty
- 1415004 Central Light Distributor Circuit Board ACS2 / Shark 1
1 P10064 ACS Power Module (DX-PM2) 80AMP 1
2 1433332 Power Modul Shark DK-PMBO01 1
2 1448744 Power Module Shark DK-PMB21 1
2 AT.1433332 Replacement Part For Shark-Elektronik DK-PMA1 1
2 AT.1448744 Replacement Part For DK-PMB21 For Electrical Adjustment 1
2 AT.1495783 Replacement Part For DK-PMB21 For Electrical Adjustment 0
2 1136898 Shark Powermodule DK-PMC28, 75-90A 1
3 SP1442052 Light Plate Central Distributo for Lighting System Completely with Holder 1
and Mounting kit
4 P10072 ACS-Bus T-Adapter (Splitter) 1
5 1442877 ACS Device Support 1
6 P10081 ACS Actuator Module (Clam) 1
8 1487372 Special Nut Shark 20050801 — 1
8 1487496 Special Nut ACS 20050801 — 2
Version: 2010/08/11a EN 44 /64 D



Invacare® Dragon | Control Adjustment

REM24SD Remote

Pos. Part number Description Valid from — until Qty
1 1436541 ACS REM24SD Joystick 1
2 SP1497416 casing bottom part for REM24SD 1
3 SP1497417 casing upper part for REM24SD with keypad 1
4 SP1497418 Internal Cable Loom for REM 24SD 1
5 SP6001771 Joystick upper part 1
6 SP1497419 Joystick for REM 24SD 1

D 45/64 Version: 2010/08/11a EN



Invacare® Dragon | Control Adjustment

Remote holder for accompanying person

1422937_X.dwg

Pos. Part number Description Valid from — until Qty
1 SP1422937 Assembly Kit F. Std. Attendant Seat Control LH . 1
1 SP1422936 Assembly Kit RH F. Std. Attendant Seat Control 1
2 SP1422818 Assembly Kit For Attendatcontrol (Standard/Kontour/Flex) 1
3 - Handknob 1
4  Z12008A.P40 Gripping Clip With Hexagon Hole, Ral 9005 Black 1

Version: 2010/08/11a EN 46 /64 D



Invacare® Dragon | Control Adjustment

Remote REM550 & Holder

1523444 dwg
Pos. Part number Description Valid from — until Qty
1 SP1523444 Remote REM550 1
2 1440440-9005 JOYSTICK BOX SUPPORT SHARK, WITHOUT SCREWS 1
3 SP1498222 Installation-Kit For Control Unit Support Swing-Away Mechanism REM 24 1
SD
4 SP1535082 Joystickknob, cpl. 1
47 /64 Version: 2010/08/11a EN



Invacare® Dragon | Control Adjustment

Keypads Shark2

Pos. Part number Description Valid from — until Qty
1 SP1537479 Keypad DK-REMDO1 1
2 SP1537480 Keypad DK-REMD11 1
3 SP1537481 Keypad DK-REMD21 1

Version: 2010/08/11a EN 48164 D



Invacare® Dragon | Control Adjustment

Dual Control

-
\_JS
&

Pos. Part number Description Valid from — until Qty
- 6001425 ACS Dual Control 1
1 P41105 Bus Cable Socket 1
2 GME61927 Fixing Clamp For ACS Bus Connector 1
3 P10304 ACS Joystick With Connecting Cable 1
4 Z183001A Rubber Gaiter For ACS Remote 1

D 49/64 Version: 2010/08/11a EN



Invacare® Dragon | Control Adjustment

Remote Brackets

Pos. Part number Description Valid from — until Qty
- SP1422818 Assembly Kit For Attendatcontrol (Standard/Kontour/Flex) 1
1 SPS183040 Remote Bracket Standard 1
2 1442777 Remote Support Shark, cpl. With Screws 1
3 SP1421796 Swing-Out Height-Adjustable Remote Holder LH 1
3 SP1421795 Swing-Out Height-Adjustable Remote Holder RH 1
4  SP1436542 Joystick Box Support Std. For REM 24SD, With Screws 1
5 SP1436543 Joystick Box Support Swing Away REM 24SD & Shark, With Screws 1
6 SP1496249 Remote Bracket, Height Adjustable And Swing Away LH 1
6 SP1496248 Remote Bracket, Height Adjustable And Swing Away RH 1
7 SP1536180 Montagekit for swing-away remote 1
7 SP1498222 Installation-Kit For Control Unit Support Swing-Away Mechanism REM 24 1

SD

Version: 2010/08/11a EN

50/ 64



Invacare® Dragon | Control Adjustment

Control Unit/ Joystickbox

Pos. Part number Description Valid from — until Qty
1444717 Shark-Attendant Control, Switchable 1
1484911 Shark2 Buscable L=2000mm 20051101 — 1

- SP1419695 Magnet Key REM24 With Pouch cpl. 1
- P10062 ACS Programming Kit (Wizard Software) 1
1449299 Shark Retrofit Kit Operation Accompanying Person, Switchable 1
- 6001450 ACS-Hand Programmer, Instrucions In French, German, Spanish 1
1 AT.1448743 replacement part for Remote Shark REMB11 (drive and ajdustments) 20060501 — 1
incl. BUS cakbe 1.5m
1 AT.1441612 replacement part for Remote Shark REMAO5 (drive only) incl. BUS cable 20060501 — 1
1.5m
1 1441612 Remote Shark With Bus Cable 1,5m — 20051201 1
2 1484904 Remote DK-REMD21, Shark2 (Drive, Seat Adjustment, Light) 20051101 — 1
2 1449177 Remote Shark DK-REMD11 (with actuators) 20051101 — 1
2 1492567 Remote Shark DK-REMDO1 (drive only) 20051101 — 1
3 AT.1440541 Comando Luzes Shark (Not longer avaiable. Please order exchange-kit) 1
3 SP1522494 Exchange-Kit For Shark1 Lightmodule (At.1440541) 1
Standard-Remote-Holder
4  SP1440312 Protective Bumber For Shark Remote cpl. 1
5 1442691 Guard Bow For Shark With Lights Remote cpl. 1
6 1441551 Programming Adapter Shark (Unconditionally Necessary To Program 1
Shark)
7 1436541 ACS REM24SD Joystick 1
8 6001425 ACS Dual Control 1
9 SP1422828 Protective Bumber F. REM 24 Remote cpl. 1

51/64

Version: 2010/08/11a EN



Invacare® Dragon | Control Adjustment

Remoteholder

T1_Fahrpulthalter.dwg

T,

i :

5

Pos. Part number Description Valid from — until Qty
SP1422818 Assembly Kit For Attendatcontrol (Standard/Kontour/Flex) 1

1 SPS183040 Remote Bracket Standard 1

2 1442777 Remote Support Shark, cpl. With Screws 1

3 SP1421796 Swing-Out Height-Adjustable Remote Holder LH 1

3 SP1421795 Swing-Out Height-Adjustable Remote Holder RH 1

4  SP1436542 Joystick Box Support Std. For REM 24SD, With Screws 1

5 SP1436543 Joystick Box Support Swing Away REM 24SD & Shark, With Screws 1

Version: 2010/08/11a EN 52/64 D



Invacare® Dragon | Cables & Charger

Batterys & Charger

1440773.dwg

4

Pos. Part number Description Valid from — until Qty

- SP1523354 Battery Fixation-Kit (not shown) 1

- 1440758 Battery Cable Shark 1

- 1442552 Battery Cable Shark With Light 1

- 1444668 Battery Cable ACS 1

- SP1532880 Batterycable ACS2 1

6,7 SP1423696 Charger 24V/8A With Continental Mains Cable, cpl. 1

6,8 SP1423697 Charger 24V/8A With Uk Mains Cable, cpl. 1

1 1432944 Battery Mk Sldg 60Ah (Gel) 1

1 SP1522107 AGM Battery 50Ah 1

2 1421655 Battery Strap 1

3 P52996 Battery Terminal Cover 1

4 1440759 Strip Fuse Holder With 40A Fuse Shark 1

4 1444669 Strip Fuse Holder With Fuse 50A 1

4 1432561 Strip Fuse Holder with 80A Fuse 1
Only for Shark Il with 90Ah Powermudule

5 1442600 Strip Fuse 40A (Shark) 1

5 P12191 Fuse 50A 1

6 SPP51981 Gel Battery Charger Unit 1

7 P21079 Charger Power Cable (Shockproof Plug) 1

8 P21080 UK 3 Pin Mains Lead 1

8 1466783 Power Cable, 3-pole, black, 6A/250VAC (Switzerland) 1

9 5813987 Battery Charger 8A Gi Popular (only Sweden) 1

10 1492498 Battery Frame ACS 1

D 53/64 Version: 2010/08/11a EN



Invacare® Dragon | Cables & Charger

Cables

ACS-Buskabel

Lénge / lenght (mm) Art.-Nr Pos.
300 - 1
100 - 2
1600 - 3

Shark-Buskabel

Lange / lenght (mm) Art.-Nr. Pos.
1000 - L
2000 -
Y-Bus-Cable - 6

Kabel fur Licht- und Aktuatormedule (CLAM)
Cable for Light- and Actuatormoduls (CLAM)

| e |, | S Pl v | oo
- - X X X - 1
% X X - X - 8
% = % X x® - 9
Batteriekabel / Batterycable
Licht / Light mit .Sicherung Art.-Nr. Pos.
with Fuse
24V - - 10
24V S04 - 11
24V (Shark) - - 12
24V (Shark) LOA - 13
Pos. Part number Description Valid from — until Qty
1 GSM63003 ACS Bus Cable L=300 mm 1
2 GSM63011 ACS Bus-Cable 1,1M 1
3 GSM63016 ACS Bus-Cable 1,6M 1
4 1448922 Shark Buscable 1000mm 1
5 1484911 Shark2 Buscable L=2000mm 1
6 1450314 Shark Y-Bus Cable 1
7 1445554 Harness Shark For Electrical Adjustments 1
8 1444670 Harness ACS For Electrical Adjustments And Lightening 1
9 1488951 Harness Shark For Ligth And Electrical Adjustments 1
10 1444668 Battery Cable ACS 1
11 1444669 Strip Fuse Holder With Fuse 50A 1
12 1440758 Battery Cable Shark 1
13 1440759 Strip Fuse Holder With 40A Fuse Shark 1

Version: 2010/08/11a EN 54./64 D



Invacare® Dragon | Safety Options

Front Lights

Ul

Pos. Part number Description Valid from — until Qty
1442734 Headlamp RH 24V cpl. 1

- 1442735 Headlamp LH 24V cpl. 1

1 1433737 Glass For Front Light 1

2 P31108 Light Bulb 24V/10W 1

3 1419271 Light Bulb 24V/21W Yellow, turn indicator 1

4 1428082 Swivel Mechanism RH 1

4 1428081 Swivel Mechanism LH 1

5 1442685 Mounting Kit Front Light 1

55/64

Version: 2010/08/11a EN



Invacare® Dragon

Rear Light

| Safety Options

Pos. Part number Description Valid from — until Qty
b - Insulating Sheath 1
e - Hex Nut M5 Self-Locking 1
d - Washer 5.3 DIN 125 1
a - Screw DIN 7991 M8X20 Black Galvanised 1
- SP1441571 Light Support With Rearlight LH cpl. 1
c - Cable Fixation Small 1
- SP1441565 Light Support With Rearlight RH cpl. 1
1 1442736 Rear Light 24V, cpl. 1
2 1419271 Light Bulb 24V/21W Yellow, turn indicator 1
3 P31191 Lamp 24V/5W 1
4 5807542 REFLECTOR, RED 1
5 1441573-9005 Light Support Rear LH 1
5 1441569-9005 Light Support Rear RH 1
6 1441568 Fixing For Reflector 1
7 1419274 Reflector Red, Round 1
8 1442603 Tail Light Fixing Kit 1

Version: 2010/08/11a EN

56 / 64



Invacare® Dragon | Safety Options

Belts
Pos. Part number Description Valid from — until Qty
1 1422869 Positioning Strap With Velcro cpl. for Junior-Seat 1
2 1422845 Positioning Strap With Snap cpl. For Standard-Seat 1
2 5370088 Belt Dragon Start 1
3 SP1422848 Holding Strap For Standard And Contour Seat H-Form cpl. 1

D 57 /64 Version: 2010/08/11a EN



Invacare® Dragon | Seating Options

Headrest
Kontour Kids Laguna
R g
12| R 34| W 5| 6 7 8

grey
Pos. Part number Description Valid from — until Qty
1 SP1422925 Headrest Standard/Contour Black cpl. 1
2 SP1422865 Headrest Cushion Contour Black, Wo Bracket 1
3 SP5313308 Headrest Cushion Junior, Grey Vinyl, cpl. 1
4 SP5313262 Headrest Cushion Junior, Grey Vinyl, Wo Bracket 1
5 1440900 Headrest Comfort (black) 1
6 1440903 Headrest Pad Comfort (black) 1
7 SP1422547 Headrest Bracket For Contour-/Flex Seat cpl. 1
8 SP1422914 Headrest Bracket For Standard Seat cpl. 1

Version: 2010/08/11a EN 58 /64 D



Invacare® Dragon | Seating Options

Headrest with Cheeksupport

Pos. Part number Description Valid from — until Qty
1 1446560 Cheek Support, Sidewise Adj. 1
1 SP1541658 HEAD/CHEEK SUPP. TR26 CPL. SIDEWISE ADJUSTABLE FOR EASY 1

ADAPT
2 1444210 HEAD REST ATTACHM. CPL. 1
3 1444304 CUSHION, CHEEK SUPPORT 1
4 1445691 ATTACHMENT HEADREST CPL 1
5 1444183-0509 POLE NECKREST, CPL 1
5 SP1529572 Headrestholder for EasyAdapt 1
6 5716497 PLASTIC CAP 1
7 1448661 Stop cpl., Neck- & Headrest 1
8 1445838 SKENA HUVUDSTOD KPL. 1
9 1485538 Part not for sale 1

59 /64

Version: 2010/08/11a EN



Invacare® Dragon | Other Options & Accessories

Options
1422955.dwg
4 L
| |
| 6
Pos. Part number Description Valid from — until Qty

- 1449280 USB Wizard Dongle Kit, EDL-USB, cpl. 1
1 SP1422955 Rear Mirror 1
2 SP1423435 Rear Mirror Support Rail cpl. 1
3 SP1422881 Rear Mirror Complete With Support 1
4 SP1430416 Bag For Side Panel RH cpl. 1
4  SP1430417 Bag For Side Panel LH cpl. 1
5 SP1422844 Cane Holder Std. cpl., RH/LH 1
6 5370157 Hour counter 1
6 SP1492110 Cabele for hour counter 1

Version: 2010/08/11a EN 60 /64 D



Invacare® Dragon | Other Options & Accessories

Tray
Pos. Part number Description Valid from — until Qty
- SPN377001 Tray RH Foldaway With Holder With Cut-Out For Remote LH, Junio-Seat 1
- SPN377002 Tray LH Foldaway With Holder With Cut-Out For Remote RH, Junior-Seat 1
- SP1422954 Swing-Out Tray Without Cut-Out, cpl. 1
- SP1422952 Swing-Out Tray With Cut-Out F. Control LH cpl. 1
- SP1422953 Swing-Out Tray With Cut-Out F. Control RH cpl. 1
1 2177016 Tray-RH Control, Transparent 1
1 1415083 Tabletop Cut RH 1
1 Z177017 Tray-LH Control, Transparent 1
1 Z17024A Tray 660 X 540 X 8, Transparent 1
1 1415084 Tabletop Cut LH 1
2 - Tube End Plug S| 22 1
3 - Sks Nut Cap M12 1
4 - Handknob 1
5 - Bush Rd. 19 X 3.5 X 25 1
6 - Tube End Plug E 15 X 15 1
7 SPz177011 Tray holder 1

61/64

Version: 2010/08/11a EN



Invacare® Dragon | Other Options & Accessories

Kerb Climber

F—————=

Pos. Part number Description Valid from — until Qty
SP1434453 Curbclimber With Front Fixation cpl. 1

1 SP1418452 Kerb Climber cpl. 1

2 1434454-9005 Kerbstone Raiser Receptacle With Fixing Brackets 1

3  N10499 Gas Spring 1

4 1433733 Kerb Climber With Shoe 1

5 NO02201 Bush BB 1517 DU 1

6 L01039 Tube End Plug F 38 X 20 1

Version: 2010/08/11a EN

62 /64






Yes, you can’

Belgium & Luxemburg:

Invacare nv, Autobaan 22, B-8210 Loppem

Tel: (32) (0)50 83 10 10, Fax: (32) (0)50 83 10 11
belgium@invacare.com

Danmark:
Invacare A/S, Sdr. Ringvej 37, DK-2605 Brendby
Tel: (45) (0)36 90 00 00, Fax: (45) (0)36 90 00 01

denmark@invacare.com

Deutschland:

Invacare Aquatec GmbH, AlemannenstraBe |0, D-88316 Isny
Tel: (49) (0)75 62 7 00 O, Fax: (49) (0)75 62 7 00 66
info@invacare-aquatec.com

European Distributor Organisation:

Invacare, KleiststraBe 49, D-32457 Porta Westfalica

Tel: (49) (0)57 31 754 540, Fax: (49) (0)57 31 754 541
edo@invacare.com

Espaiia:

Invacare SA, c/Areny sin, Poligon Industrial de Celra, E-17460 Celra (Girona)
Tel: (34) (0)972 49 32 00, Fax: (34) (0)972 49 32 20
contactsp@invacare.com

France:

Invacare Poirier SAS, Route de St Roch, F-37230 Fondettes
Tel: (33) (0)2 47 62 64 66, Fax: (33) (0)2 47 42 12 24
contactfr@invacare.com

Ireland:

Invacare Ireland Ltd, Unit 5 Seatown Business Campus, Seatown Road, Swords, County Dublin - Ireland
Tel : (353) | 810 7084, fax: (353) | 810 7085

ireland@invacare.com

Italia:

Invacare Mecc San s.rl, Via dei Pini 62, 1-36016 Thiene (V)
Tel: (39) 0445 38 00 59, Fax: (39) 0445 38 00 34
italia@invacare.com

Nederland:

Invacare BV, Celsiusstraat 46, NL-67 16 BZ Ede

Tel: (31) (0)318 695 757, Fax: (31) (0)318 695 758
nederland@invacare.com, csede@invacare.com

Norge:

Invacare AS, Grensesvingen 9, Postboks 6230, Etterstad, N-0603 Oslo
Tel: (47) (0)22 57 95 00, Fax: (47) (0)22 57 95 01
norway@invacare.com, island@invacare.com

Osterreich:

Mobitec Mobilitéitshilfen GmbH, Herzog Odilostrasse 101, A-5310 Mondsee
Tel: (43) 6232 5535 0, Fax. (43) 6232 5535 4
office@mobitec-austria.com, austria@invacare.com

Portugal:

Invacare Lda, Rua Estrada Velha, 949, P-4465-784 Leca do Balio
Tel: (351) (0)225 1059 46147, Fax: (351) (0)225 1057 39
portugal@invacare.com

Sverige & Suomi:
Invacare AB, Fagerstagatan 9, S-163 91 Spdnga
Tel: (46) (0)8 761 70 90, Fax: (46) (0)8 761 81 08

sweden@invacare.com, finland@invacare.com

Switzerland:

Mobitec Rehab AG, Benkenstrasse 260, CH-4 108 Witterswil
Tel: (41) (0)61 487 70 80, Fax.: (41) (0)61 487 70 81
office@mobitec-rehab.ch, switzerland@invacare.com

United Kingdom:

Invacare Limited, Pencoed Technology Park, Pencoed, Bridgend CF35 5HZ
Switchboard Tel: (44) (0) 1656 776200, Fax: (44) (0)1656 776201
Customer services Tel: (44) (0)1656 776222, Fax: (44) (0)1656 776220
UK@invacare.com

© Invacare® International Sarl . All Rights Reserved.



